


DOOR STOPPER/DOOR HO

_Ds-001 ] RC-008A

"~ Material Material
~ Zincalloy Zinc alloy
- Finish Finish
o Coating: Coating: *Satin
~ *Satin *Brass
~ Painting:

~ sSilver elvory
- *Brown *Bronze

49
0, | 145 045
-
E) 5 —\*8 2 " )
o 4 M10
2 T

RC-008AL RC-008AS

Material Material
L=35/80:Zine alloy Zinc alloy
L=100/120/150: FiniSh

Aluminium alloy Coating: *Satin

Finish
Coating: *Satin

Unit:mm r—&j

Model
RC-008AL
RC-008AL L=35 M10| 12
RC-008AL L=100 M12| 20
RC-008AL L=120 | 120 [M12| 20
RC-008AL L=150 | 150 | M12| 20

M10| 25

SR

888|880
3|13(8/3|3|m

35

| Y |
- — 3 ! \ feMaohlnescrew
- M10 M4X16 0
{




LDER

RC-009A/RC-009AL RC-WA

i/
L ee———

Material Finish
L=83:Zine alloy Coating: *Satin
L=100/120/150:Brass

Unitmm

Model A
RC-009A 8 | B
RC-009AL L=100 | 100
RC-009AL L=120 | 120
RC-009AL L=150 | 150

@30




DOOR GUARD

RH-001N (For in swinging)

Material
4'-11-3— Zinc alloy
@DFlat head .
_ m::hm s:mw Pan hoad » -1 Finish
w xX12 -
i machin H
e ‘W;awew Coating
| q 14 *Satin *Copper bronze
I - *Brass bronze *Brass
- :!I \ o 0 2 21 23 _
“ ey ]::tEe 61063 [6116 Adjustable
- 3mm
s25 || ow l '
| 3

v

@)

112

67

o
7 )
27 |1

107

|
n Y —= —))5 e 8
|

RH-002N (For out swinging)

Material Finish
L Zinc alloy Coating: *Satin *Copper bronze <Brass bronze °Brass
5 107

(s
4
,_6 Adjustable range

15
g
(DFlat head ﬁ
@Pan head machine screw |
machine screw M4x120 (=
R < o5 HOE———)q * (a¢
- >/ < ] C x|
L °‘_ \ o8
22|
o [ 107 B
- T T
3




RH-007N (For in swinging)

Material
ﬁ Zine alloy
4‘—11-3— an Finish
em:dscrew v —— Coating: *Satin *Brass
- 0
g M4X 120 T ,,%higdxm - *Brass(Hairline)
& L Max120
¢ 14
R <
vt . 0
§ 7 \ s A= ) ,_tﬁ 22 21 23 .
> - = 6106/3 |6,116 Adlustable
=25 ow I '
|y = %
o | =

L 27 |11
-

110




FLUSH BOLT

RB-10/RB-10R

Material
Zine alloy

Finish

20
Coating:
@ *Satin *Brass

(RB-10) Painting:

*Black *Bronze *White
I
‘?“a (RB-10R)
205 *8 for RB-10
7 for RB-10R
sk
3

4-R25
res
3
]
-
S A
| 18(sTROKE)

3=
/M8X%1.25

4
T =

2-¢7X90°center, M4 X 0.7

26.5

RB-20/RB-20R

Material
20 Zine alloy
Finish
Coating:
*Satin *Brass

Painting:
*Black *Bronze *White

*UI
1
Y

]
| 1a(sTROKE)

-
v!—- >t
M8X1.25

. ‘.-‘V

56

-

2-(p8.2X90°center, ¢5hole




RB-001PE RB-002W

4-R2.5

2-(p7X90°center, M4 X0.7

Note: Fixing screws should be prepared at jobsites.

Material
Zine alloy
Finish
Coating:

*Satin *Brass
Painting:
*Black *Bronze
*White

20.5

w
" 18(sTROKE)

T
/M8X1.25

Material
Zine alloy
Finish
Coating:
*Double nickel

155

172

]
18(STROKE)

] @
e

M8X1.25

ACCESSORIES

Extension Rod

Material: Steel with plastic cap
Standard length: 145mm/265mm/365mm/430mm

* Other lengths available as option.

— | E— ___-%__

|y MBX1.25

145/265/365/430

2-M4X0.7 _~

Guide bracket

Material: Steel

25




